Answer Key

#2Y) FHA =rasferm ol At -
() @ - BT (¥) TIO - 0], oRE 49fe swemw
() ¥ - 9 (9) W - WIS R
(8) =T - FI6] e G B o 4 ReE

A3R)

(F) =% 4RI = I U FA R WG A4 @ AR T
O SR TR (WS Mo AF Srisfe e 100 MR (Xes A

qINCFOST TR W 26 ST 5N 5 IS AEF 9RO R
T AT FCH

() @ FERY oS @ o IR fE TR SR
DY G, W 8 FHHOR AGCE, PR e 2@ ageiE B

R T FE

(*) "qB" N ®F R G FrEE AR - O T, TR
T | E GF S AFE [T FINS HO FAS AT N

?H0) AIH =l W sfdaoa I -
@P-F @aw-a () g2- g
(}) 7RI - AR (8) IZ™ - WS

W_“:_nqﬁn
Aot - wo



Mo JI% -
wifss 8 Treadfofss =< --

®) MU T A -

TR OB, [F7 Gl AIfNS FN A3 @, WEE el [F2 w2

ve, wivE Hh JRR g ARS @ia =pucsta =pU eRs, SR
Blizsl

B)ﬁ?%mﬂm(‘/)f‘o‘ﬁe—ga%@mm(x) oz WS -

Y) G P FfieE --X--
3) @l qﬁﬁﬂi [R FY 8 oMo

o) 8 = SR Fie T Vs

8) ¥ T qBRw2 RIT 7 T X
@) S(F2 T --X--

V) FYrE A WIONE N

P ——— | | | - e S






